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FIRST HALF
(Inorganic Chemistry )
( Marks : 32 )

Select the correct answer :
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The metal present in nitrogenase enzyme
is

() Ni
(i) Co
(iii) K
(iv) Mo
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Write the group displacement law an

explain with example.
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Write a note on the
blood clotting.
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What do you mean by binding enersy
and mass defect? How is nuclear 4
stability related to binding energy? |
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Write short notes on nuclear fission and
nuclear fusion.
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Potassium ferricyanide
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Sodium thiosulphate
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Complete the following reactions :
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Answer any three questions :
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Discuss the poisoning effect of mercufy
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Discuss briefly about the role of iro? in
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DlSCuSS the functlon Of Na and K OnS
in human g dy.
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SECOND HALF
( Physical Chemistry )
( Marks : 32)

Select the correct answer :
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A fre.shly prepared Fe(OH), precipitate is
peptized by adding FeCl, solution. Th
charge on the colloidal particle of
Fe(OH); sol is due to adsorption of
) C1I- smm

Cl” ion
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Fe3* jon
(i) OH™ <&
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What is specific conductance? Explain

why specific conductance decreases, but
' with

molar . conductance increases
dilution. .
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Explain Kohlrausch’s law of

independent migration of ions.
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Define transport number. Write the

name of two methods used in :,hf-
determination of transport numoe

of an ion.
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UNIT—II
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Swer any two questions :
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Describe how the pH of a solution candbe
determined by using hydrogen electrode.
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Derive Nernst’s equation for
potential, cell potentlal

Concentration.
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( Tum Over)



(10 )
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In a cell, the following reaction
Zn (9 +Co* (ag) = zn2* (ag) +Co (®

. d
occurs. Write the electrode reactions at-; .
represent

the cell. Calculate ¢ ﬂ
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Explain with example what is enzym
Catalysis.
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Answer any one question :
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Draw the' phase diagram ©
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One solid phase and labe
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Define  number  of of fgee dom
components and degrees
with examples.
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Write the number of P ollowing
Components in the
reaction :

Mg003 (S) = Mgo (s) + C02 (g)

( Turn over)



(12

UNIT—V
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Answer any two questions : ’
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Discuss why lyophilic colloids are moF
stable than lyophobic colloids. o
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State and explain Hardy-Schulze rule-
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Fe(OH); sol is positively charged, but

in
As,S3 solis negatively charged. Expl&
gIving reason, :
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State and explain the law noe
Photochemical equivalence. Give ©
€xample of photochemical reaction- 9
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Write g short note on fluorescence.
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